


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

Second Year
Commerce
BUSINESS STATISTICS

Time : 3 hours
Maximum marks : 75

Answer for 5 marks questions should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are the characteristics of statistics?

¦ÒÎ°¯¼ß Snõv]¯[PÒ ¯õøÁ?
2. What precautions would you take before using secondary data?

Cµshõ® {ø»¨ ¦ÒÎø¯ E£÷¯õP¨£kzx® •ß PÁÛUP ÷Ási¯ •ßöÚa\›UøPPÒ ¯õøÁ?
3. What are the general rules to be followed in tabulation?

AmhÁøn°k®  ÷£õx ¤ß£ØÓ ÷Ási¯ ö£õx ÂvPÒ ¯õøÁ?
4. Draw a suitable diagram from the following data :

	Year
	Sales ('000 Rs.)
	Gross profit ('000 Rs.)
	Net profit ('000 Rs.) 

	1984
	120
	40
	20

	1985
	135
	45
	30

	1986
	140
	55
	35

	1987
	150
	60
	40


RÌUPsh ¦ÒÎ ÂÁµzvØS HØÓ Áøµ£h® JßÖ ÁøµP : 

	Á¸h®
	ÂØ£øÚ 
('000 ¹.)
	ö©õzu »õ£® 
('000 ¹.)
	{Pµ »õ£® 
('000 ¹.)

	1984
	120
	40
	20

	1985
	135
	45
	30

	1986
	140
	55
	35

	1987
	150
	60
	40


5. From the following data compute A.M. by direct method.

	Marks :
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60

	No. of students :
	5
	10
	25
	30
	20
	10


RÌUPsh Â£µ[PÎ¼¸¢x  ÷|º •øÓ°À \µõ\›ø¯U PnUQkP :

	©v¨ö£sPÒ :
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60

	©õnÁºPÒ GsoUøP :
	5
	10
	25
	30
	20
	10


SECTION B — (4 ( 15 = 60 marks)

 Answer any FOUR questions.

6. What is random sample? How do you select a random sample from a finite population?

\©Áõ´¨¦U TöÓkzuÀ GßÓõÀ GßÚ? J¸ SÔ¨¤mh öuõSv°À (©UPm öuõøP°À) GÆÁõÖ \©Áõ´¨¦U TöÓkzuø» öu›Ä ö\´Áõ´?

7. Calculate mean deviation from the following data :

	X 
	10
	11
	12
	13
	14

	f
	3
	12
	18
	12
	3


R÷Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x \µõ\› Â»Pø» PnUQkP :

	X 
	10
	11
	12
	13
	14

	f
	3
	12
	18
	12
	3


8. Find the S.D. and coefficient variation from the following data :

	Wages 
	No. of workers 

	Upto Rs. 10
	12

	Upto Rs. 20
	30

	Upto Rs.  30
	65

	Upto Rs. 40
	107

	Upto Rs. 50
	157

	Upto Rs. 60
	202

	Upto Rs. 70
	222

	Upto Rs. 80
	230


RÌUPsh ¦ÒÎ Â£µ[PÎ¼¸¢x vmh Â»Pø»²®, vmhÂ»PÀ öPÊøÁ²® PõsP :

	T¼
	÷Áø»¯õmPÒ GsoUøP 

	¹. 10 US ÷©À
	12

	¹. 20 US ÷©À
	30

	¹. 30 US ÷©À
	65

	¹. 40 US ÷©À
	107

	¹. 50 US ÷©À
	157

	¹. 60 US ÷©À
	202

	¹. 70 US ÷©À
	222

	¹. 80 US ÷©À
	230


9. Calculate correlation coefficient between height (in  inches) and weight (in kg) from the data given below:

	Height :
	60
	63
	65
	64
	68

	Weight :
	50
	53
	60
	67
	70


RÌPõq® Â£µ[PÎ¼¸¢x Ehß öuõhº¦  öPÊøÁU Psk¤i (E¯µ® A[S»zv¾® Gøh Q÷»õÂ¾® öPõkUP¨£mkÒÍx)

	E¯µ® :
	60
	63
	65
	64
	68

	Gøh :
	50
	53
	60
	67
	70


10. You are given below the following information about advertising and sales :

	
	Adv. Exp (X)
	Sales (Y) 

	
	(Rs. Lakhs)
	(Rs. Lakhs)

	Mean 
	10
	90

	S.D 
	3
	12


Correlation coefficient  = 0.8

(a)
Obtain the two regression lines

(b)
Find the likely sales when advertisement expenditure is Rs. 15 lakhs.

(c)
What should be advertisement expenditure if the company wants to attain sales target of Rs. 120 lakhs.

R÷Ç öPõkUP¨£mkÒÍ Â£µ[PÒ ÂÍ®£µa ö\»ÂøÚ²® ÂØ£øÚø¯²® £ØÔ¯x :

	
	ÂÍ®£µa ö\»Ä (X)
	ÂØ£øÚ (Y) 

	
	(¹. »m\zvÀ)
	(¹. »m\zvÀ)

	Tmka \µõ\›
	10
	90

	vmh Â»UP®
	3
	12


Ehß öuõhº¦ öPÊ = 0.8

(A)
Cµsk öuõhº¦ ÷£õUS \©ß£õkPøÍ Psk¤i

(B)
ÂÍ®£µa ö\»Ä ¹. 15 »m\® GÛÀ ÂØ£øÚ°ß AÍøÁ ©v¨¥k ö\´P
(C)
ÂØ£øÚ°ß ©v¨¦ ¹. 120 »m\® GÛÀ ÂÍ®£µa ö\»Ä GÆÁÍÄ BS®.

11. Calculate 5 yearly moving averages of the no. of students studying in a college shown below :

	Year
	No. of students 

	1988
	332

	1989
	317

	1990
	357

	1991
	392

	1992
	402

	1993
	405

	1994
	410

	1995
	417

	1996
	405

	1997
	431


R÷Ç öPõkUP¨£mkÒÍ J¸ PÀ¿›°ß ©õnÁºPÎß GsoUøPø¯U öPõsk 5 Á¸h |P¸® \µõ\›ø¯ PnUQkP 

	Á¸h® 
	©õnÁºPÒ GsoUøP

	1988
	332

	1989
	317

	1990
	357

	1991
	392

	1992
	402

	1993
	405

	1994
	410

	1995
	417

	1996
	405

	1997
	431


12. What is an Index number? What are the objects and uses of Index numbers?

SÔ±möhs Gß£x GßÚ? SÔ±möhsPÎß ÷|õUP[PÐ®, E£÷¯õP[PÐ® ¯õøÁ?
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